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Directions: In each of the following exercises we have sentences given in
four parts. Read each sentence to find out whether there is any error in it.
The error, if any, will be in one part of the sentence. The number of that
part is the answer. If there is no error, the answer is no error; the answer
is (5). (1gnore the errors of punctuation, if any)

1. Some of the M. P.'s absented from the Lok Sabha (A) even in those
days (B) when issues of the highest (C) national importance were
being discussed (D). No error (£)

2. The guiding principles of () the Seventh Five year Plan should
continue (B) to be growth, equity (C) and social justice, self-reliance
improved efficiency (D) and productivity. No error (E)

3. Let you and I (A) press our minds (B) into thinking out (C),the. best
solution for the problem (D).No error (E)

4. India is one of those few (A) countries which has ‘maintained a (B)
steady growth rte of their national product over.more than (D) three
decades. No error (E)

5. None of the two boys (A) who were (B) present there (C) came to his
help (D). No error (E)

6. Itis written in Gita (A) that God (B) incarnates himself (C) in times of
trouble (D). No error (E)

7. Judge in him (A) preyailed upon the father () and he sentenced (C) his
son to death (D). No error(E)

8. Foreign readers will find (A) most of prasad’s (B) poetical works full of
(C) the great charm (D). No error (€)

9. The induction (A) of the Muslim League into (B) the interim
government had not (C) achieved what it was intending (D) to do. No
error (E)

10. Oil pollution studies in the seas (A) and on the beaches around India
(B) were initialed (C) in 1975 by (D) the National Institute of
oceanography Goa. No error (E)

11. Itis my considered belief (A) that one has to be very courteous (B) to
his customers (C) in order to be a (D) successful businessman. No error

(E)

12. Almost (A) every one (8) of the opposition members were (C) present
in the central hall of parliament (D). No error (E)
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Itis evident (A) form the facts gathered so far (8) that he had hand (C)
in that murder (D). No error ()

The question (A) before our industry is how are the claims of workers
for higher wages (B) to be reconciled with the increasing cost (D) of
manufacture. No error (E)

Both himself (A) and Girraj had so much in common with Ashutosh (8)
that they developed (C) a deep friendship (D). No error (£)

India's festivals (A) reflect the varied facets (B) of her national culture
that has integrated (C) values of many faiths (D). No Error (E)

The reason that (A) the students now a days are so indisciplined s that
(B) they do not get proper guidance (C) from their (D) parents and
teachers. No Error (E)

He knows (A) the French (B) and the English (C) languages (D). No
error (E)

A two miles walk (A) daily early (B) in the morning is very conductive
(C) to health (D). No error (E)

The recent General Elections (A) have indicated once again (B that the
congress party enjoys greater (€) support of the masses than any party
in the country (D). No error (E)

He daren't to go to (A) meet his boss in the office for (B) being guilty of
constant opposition against him, he cannot look (C) direct into his face
(D). No Error (E).

The minister called for (A) radical changes in the world monrtary (8)
and financial system to respond to (C) the new realities (D). No error

(E)

Everything depends (A) on them (B) having (C) the courage of their (D)
convictions. No error (E)

It (A) has been our custom since times immemorial (B) to extend
hospitality (C) to those who come to our door (D). No error ()

In developing countries (A) and in urban areas, rapid population
growth is creating (B) major economics and social problems (C) that
are becoming immanageable (D). No error (E)

Mrs. Indira Gandhi's initiative (A) as chairperson of the Non-Aligned
movement to bring (8) people of different countries (C) together was
unique (D). No error (E)
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Ashoka the great (A) was regarded (B) one of the greatest emperors
the (C) world has ever produced (D). No error (€)

No sooner the police arrived (A) than (B) the robbers made good their
escape (C) with (D) the booty. No error (E)

A poet of finer sensibilities sees beauty (A) in all the material and
mental (8) , moral and spiritual (C) and living and non-living things (D).
No error (E)

The total trade turn-over (A) between (B) the two countries is likely to
g0 up (C) by 30 per cent in 1985 as compared with (D) that of 1984. No
error (E)

The difference between (A) a good walker and a bad one is (B) that
one walks () his heart and another (D) with his feet. No error ()

More we get. more we want (A); in this way (B) there is-no end (C) so
human desires (D). No error (E)

Indian art obtained (A) culmination during.the (B) fourth and fifth
centuries, when (C) the Guptas ruled in northern India (D). No error (E)

The struggle (A) for higher wages by the various trade groups () has
been going on hand in hand (C) with development effort to their
mutual advantage (D). No errof (£]

Such people () who do. ot know how to be polite and (B) well-
mannered in at civilized saciety (C) are disliked (D); No error (E)

When | arrived [A) on (B) the station. | saw a man who (C) had robbed
me because he thought | (D) carried the king’s wallet. No error ()

He had ordered you (A) to paint in green (B) but you painted (C) the
bitie house (D). No error ()

Little money (A) that he was left behind after (B) the marriage of his
daughter (C) was not sufficient for a big family like his (D). No error (E)

It was research in (A) the atom and its nature that (8) led (C) to the (D)
thermionic valve and the photo- electric cell. No error (E)

No less than (A) four thousand people (B) lost their (C) lives in the
earth quake (D). No error (E)

He wished me (A) to dine with him that evening () but which (C) |
declined (D). No error (E)
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I have read several plays of Shakespeare (A) who was one of (B) the
greatest dramatists (C) the world has ever produced (D). No error (E)

The destruction (A) of Hiroshima and Nagasaki at the close of the last
world war have been (B) unforgettable events in the (C) history of
mankind (D). No error (E)

These observations (A) lead to the conclusion that the northern Indian
ocean is a place (B) for intensive (C) occurrence of oil slicks (D). No
error (E)

Nobody in their senses (A) would have (B) uttered (C) such silly
remarks (D). No error (E)

This s a case (A) of most extreme poverty (B) and therefore it should
be treated (C) as such (D). No error (E)

The population of Calcutta (A) is greater than (B) Delhi.although (C)
the latter is the capital of India (D). No error (E)

Being a very cold day (A), | could not go out (B)-for.a morning (C) walk
(D). Noerror (£)

The crux (A) of the problem in_regard to the strained relations
between (B) the couple is that the views (C) of the husband do not
strike with (D) the wife's. No error (€)

Itis the most important {A) things which you have (B) to remember ()
ever inyour lfe (D). No error (E)

Growth (A) of internationatism depends (B) on the extent of
awakeninig (C), of humanity to the spiritual concept of universal
oneness (D), No error (E)

The parliament (A) will be called out (B) next session to undertake (C)
important legislation (D). No error (£)
Answer

2 3 a 5 6 7 8 9 10

E A B A A A D D c

12 13 14 15 16 17 18 19 20

c c B A E A c A D

22 23 24 25 26 27 28 29 30

E B B D E B A D D
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